EXPLODED DRAWING

POS  PART # PART NAME ary

01 SRAM PART SRAM UDH HANGER 1

02 KD160221010 THRU AXLE 148X12 1

03 KD170622081 MOUNTING PLATES BDU 1 1

04 KD170622082 MOUNTING PLATES BDU 2 1

05 KD170622078 DRIVE UNIT SCREWS 4

06 KD325922060 BATTERY COVER 750 WH 1

07 KD325922062 SKID PLATE 1

08 KD325922063 MOTOR COVER RIGHT 1

09 KD325922064 MOTOR COVER LEFT 1

10 KD170622084 USB PORT 1 STEM | COCKPIT 30° WITHOUT BLOCK LOCK

11 KD325922065 USB COVER 1 01 KD120421027 STEM KIT 1
12 KD325922066 CHARGE PORT BRACKET 1 02 KD120421902 SPACER KIT 1
13 KD325922075 CHAIN STAY PROTECTOR 1 03 KD120421034 HEADSET COVER ICR C.L.S. 1
14 KD325922069 LOCK PLATE 1 04 ACROS PART ACROS 2556 UPPER PART FOR INTEGRATED CABLE ROUTING 1
15 KD325920029 CABLE PLUG (3 CABLES) 1 05  ACROS PART ACROS ZSb6 LOWER PART 1
16 KD325921029 CABLE BLIND PLUG CLOSED 1 06 KD170520021 STEERER PROTECTOR HOSE FOR S-M 1
17 KD325922077 BOSCH LOCK COVER 1 07 KD170520022 STEERER PROTECTOR HOSE FOR L-XL 1
18 NORM PART 150 7380-1 M3 X 10 1

19 NORM PART DIN7991 M4 X12 1 STEM | COCKPIT WITHOUT BLOCK LOCK

20 NORM PART DIN 6912 M4 X12 b 01 KD120421903 STEM KIT 1
21 NORM PART DIN 7984 M4 X8 SCREW 4 02 KD120421902 SPACER KIT 1
22 NORM PART DIN7991 M3X8 4 03 KD120421034 HEADSET COVER ICR C.L.S. 1
23 NORM PART DIN 7984 M5 X8 4 04 ACROS PART ACROS 2556 UPPER PART FOR INTEGRATED CABLE ROUTING 1
24 NORM PART 150 7380 M5 X 10 7 06 KD170520021 STEERER PROTECTOR HOSE FOR S-M 1
25 NORM PART M6 BLIND PLUGS 1 07 KD170520022 STEERER PROTECTOR HOSE FOR L-XL 1
26 KD375922078 CABLE CLIP FOR BOSCH RAIL 3 08 ACROS PART ACROS 2556 LOWER PART 1

BN e

B rean Lock Mepiom

JARIFAT | PP2209 | AL

R '

JARIFA?

PP2209 | AL

MATERIAL ALLOY 7005
WHEELSIZE SIZEM-XL 29" /15X 110- 29" /12 X 148/ MAX TIRE WIDTH 66 MM
TRAVEL FRONT 100 MM
HEADSET UPPER S 056 MM - LOWER 7S 56 MM
FORK 29" - LENGTH 515 MM - RAKE 51 MM
SEATPOST/ SEATCLAMP (31,6 MM - §34,9 MM - MINIMUM INSERT 100 MM
MAX SEATPOST INSERTION ~ M: 230 MM L: 210 MM XL: 240 MM
REAR BRAKEMOUNT POSTMOUNT @180 MM - MAX. ROTOR @203 MM
REAR AXLE 173 MM/ @12MM [ PITCH 1,0
RD HANGER SRAM UDH
CHAINGUIDE MOUNT INTEGRATED
CHAINRING MIN CHAINRING SIZE: 34 / MAX CHAINRING SIZE: 36 / CHAINLINE: 53 MM
KICK STAND MOUNT DIRECT 40MM
MOTOR BOSCH PERFORMANCE CX GEN4 (SMART SYSTEM)
BATTERY SIZE M-XL: 750WH
MAX SYSTEM WEIGHT 150KG
=
FOoOCUs
COCKPIT 30° WITHOUT BLOCK LOCK
1-2NM
COCKPIT WITHOUT BLOCK LOCK

FOCUSsS



